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�	 ��������������	� ��
�� �	
 ������ 
�� ��� 
�������	 �
 ������ ���	��� �	 �
����	 ���	��� ����� �	
�������	 �� 
�������
 ��	���� �	
��� ���������� ������
�	� 
��� ������� �	
  �	����� !"###$ �� ������� �	 �
������� 
�������� �����
��	 �� ������
 �� ��	� ��������	� �	�����	� ��	����% ����	���� �	
 ���������

����

��� �������
 �����
����� �� ������
 �� ��� &��	�� ���	���� '��	� ����	���

��� ����	��� ������% ���� �	
������ �������� ��� ����������� �
 ���	� �	 �	
����������	� �� � 
���������	� ����� ��
����	� �� ��� ������ ������ ���� ������
��� �	
�� �� ��	
��	��
 ���� ��� ���� ���� � ��
���	�� 
���	� ����
 �	 ���
������ ����� �
 ��� &��	�� �() ��������
 ������� � *������	��&��+�����
 ,�����
-� ��������	� �	
�������	 
��� ����	��� ������% ��� �	
�� �������� ����� �������
�	
 ������ ������ ���	��� �	 &��	��� ��������% ��� ������� 
�������
 �� ���
�	
������ �� ���	�� �	������
 �	
 ��������� ��	� �������� ��
��� ��� �������

���	�� *�	��
���	� ���� �
������ ���� ��� ��
���	�� 
���	� ���� ��� ����% ���
���	�	� ���	� �	
�� �����
��� �����
�� �	 �������� ���	�� �	 ��� �����	� ��������
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.	���	� �
 �	 ���	��� ��� �����
� �	����
 � �����	� 
��	 ����� ��% �	 ��� ��	�����% �

� �������� ��� ������
 �� � ��� ����� 
�� ���	������� ���	
��
 
��������	� �����
�% ����

���	 ��	��� ���������	�% ���� ��	������ ���
 
��������	� ����������% ��� 
��� �� 
����� ���	�	�
���	�� �	 ����� �����,� �����
� ���� �����
��� ���	 
�������
 �� 
����� ������ ���	����

��	�� -��	� �	
 �������� !1946$ �	
����	�
 ��������	� ���	� 
�7���	� ������ �� �
���	 
������ �
 ����	��� ������% ��� ����� �
�� �
 ����	� ��
��� ��� ���	 �� �������	� ������
���������� ���	��� ������� 
������� ������ ����	�� ��	�� 8������	 !1989$% ������ ����	�
�����	�
 ���� 9: �� ;9: ��������� ���� ���	 ��
��� ���
 
�� �	���	�� �	 .�� !1994$%
 ����� �	
 /�	� !1994$% (�����
 �	
 :�
������ !1996$% *������ !1998$ �� .���+�� !1997$�
*���������	�� ���������	�� ���� ���� ������
 ����� ������	� ��������� �	����
 �
 3��
��������� �� �	 .�� �	
 <����	 !1998 �	
 1999$ 
�� �������� 9�� ����� ���������� ���
����
 �	 ������������ ��	
����	�� 
����������	� �
 ��� �������
 �������� �	
 � ����������
�	
������ ����� �� 
����	 
��� ��� ��

�	 ������ ������ �������������� =�������� 
�	����

����� ��
��� ��� ���� ������� 
�������
 �� ������� ����	��� ����� �	
�������� ����� �����
�
��� �� �����
� � ���	�������� ������� �	 ��� ������

���� 
���� ��� ��� ��
��� ���	���	� �	�� � ����������� ������� ���	 ��� ����� �
 ���
����� �� <�
�>� !1982$ ��� ����� �	 �	
������ ����
 �	 ��� ����������� �
 ��� 	��� ����	����
��������	� �	 ����	� �����% 
������	� ���	�	� ���	�� ������� ���������
 ����
 ���������	�� ���
���	 �	 
����1 �	 ������� ��� �� 
��	
 �	 9	
�����	 �� ��� !2004$� 9����	������� ���	� �	
�����	�� ������	 
�������
 �	 ������������� 
�������	% .������-���� �� ��� !2000$ �����	��

�	 ����� ��
�� 
������	� ��������	 �������	����

-������ ���� ��	�� ���	� ��� 
�� �����% �	
�������� �	
 �	������
 ���	���� 
���%
����	��� ������� �����
 �� ���	� ��� ���� 
����
�� ����� �� ����� ���� �����
�� ����
�����
� ����
�� �	
�������	 �� 
������	� �
 � ���	�	� ���	� ��� ��� �������
 �� 	��� 8������%
������� 
�7���	� �������	� ��� ����
 �� ��� ,��� �	 ���� ������ �	
 ���� ��� ����
 ����������
�� 
������	� �������� ����� ��� �����% �����	��	� ��� 
��������� 
��� ����	� � ����� �������
�
 ��� ���	���� ��������	� 8�	��% ����� �� � 	��
 �
 � ��	������ �	
������ 
�����	� �	 ���

�������	 �
 ��� �����	��� ����	
�	� �� ��	������	� ����� �
 ��� ���	����

�	 ����������% ������� �	
  �	����� !2000$ �������� �� ���
 ���� �� ��� ����	
���� ���	
����� �	 �	
������ ����	� 
�7���	� 
�����	�� 
��� �� ���������
� ���� �����
 ��	������
� ������ ���������� �	
������ ����� ��	 �� ��������
 ���� ��� ����� �����
 ����� ������

��� ��� ���������� -�� �� �� 	�������� �� �
��� ��� �����	�� �����
 �� 
��� ���� ����


�����	�� 
����

��� ���� �����	��
 ���� 
�������� � �����
 �� ����
 ���	�	� ���	� �	
���� ����	� ����
����
 
�����	�� �	����	��
 
���� �	
��
% �	 � ��� �
 �����% ���	�	� ���	� �	
���� ���
����	
�
 �	 ����	��� ������ 
���� ��������� ��� ������ 
�����	�� ���� ���	��
% �	


�7���	� 
�����	���� ��� ������� �� ��� ���� ����� ��������% ���� ������ ��	 ����	 �����
���	 ������ 9
����	� ������	� �����
� 
�� ���	�	� ���	� �	
��% �� �����	� �	 ��� ,��� ������	
� 
�������� ������	� 
�� ����	� ��	����% ����	���� �	
 ��������� 
���� ������	 " ����� �	
����������	 �
 ���� �����
 �� ��� &��	�� ���	���� &�	����% �����
������� ���������	� ���
��
 �	 ������	 4 �	 ��� �����	�
 ���	�	� ���	� �	
�� �� ������ ��� �������� �	 ���������% ���
�	
�� �� ���� �������
 ���� ������ �	
��������

?



� �������� � ��
��������� ��� ����� !
�	 ��"�������
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9 ���	�	� ���	� �	
�� ���� �� 
������	�	� 
�� � ����	 ��
���	�� ������ ��� ����������� �
 ���	�
�	 � ����� �
 �����������	 �� 
����������	� �� ��	���	�� ��� ����� ���
�� ���� ��� ���� ��	����
���� ������	 
������ ��� ��
�� ����	� ��	���� �	
 ��������� 
��� �	
 ������ ���� � ��	����
�����	�����	 �
 ��� ��������	� ������� �
 ��� ���	�	� ���	� �	
��� ���	% �	 ���������	� ?�"
�	 ?�4 ��� 
������
 �����
 �� ������
� ���� �����
 �� ������
 �� &��	�� ����	��� ������

��� �	 ��� ������	 "�

��� ���� ����	
�� �� �
� �	��������� �	
���� ����� �����

��� ��� �� �� ��	�����+� ��� �	
�������	 ����	 �� ��� ����	��� ������ !Yt$ 
�� � 
�������
�	�������
 �������� Zt �������	� ��� ����� ��� ���	���� ����� �� �	� ��� ����� �����
 ��
����� �� +1 !����� −1$ �
 ��� ������ ������ ���	����� �	 ����������	� !����� � 
���������	�$
������ Zt ��� ��� 
�	����� �
 � ������	���� ,��� ��
�� ������ ����	 ����� ���	�����	
������ ���������� ��	�������� ��� ,��� ��� �
 ���������� �� �� ��������
 !�������������
η = P (Zt|Zt−1)$�

�	 �

����	% ��� 
��� ��� ����������	� !�����	� 
��� ��� ������
$ �
 � ��� �
 Q ���	��������
������% Y = (Y q

t )(t, q)∈{1,...,T}×{1,...,Q}% ����� t �� ��� ��	�� �	
 q ��� ������ 	������ �����
�������
 ������ ��� ��
�
 �	�� ����������� ��������� (Xq

t ) ����� ��	 ���� �	�� ��� ��������
������ !+1 �� −1$ �� ���� 
��� t �	
 
�� ���� ������ q% 
���	
�	� �	 ��� 4���	�� 
�7���	��
�
 ��� ������ �������
 �� ��� ��	� ��	 ���	
� ���� �� ��� ��
�	� �����

8���	� � ��� �
 ��
�
 ��	���� ����������	� !�� �����	� 
��� 
�� ���� ������$ Xq
t % �� ��

	�������� �� 
������	� �� ���� 
��� ��� ������������� �
 ���	� �	 ���� ��

�	 ����� �
 ���
���	���% ����	 �	
�������	 ��������� �� �� ���� 
���0 ����� ��� ��� ,�����
 �������������
P (Zt|It)% ����� It = (X1, . . . , Xt)� �������
 ������������� P (Zt|IT ) ��� ���� 
�,	�
 ����	
��� ����� �	
�������	 It = (X1, . . . , XT )�

��� ������������� �
 Xq
t 
���	
 �	 ��� ��

�	 ��������� Zt% �	
 ���� 
���	
�	�� ��

��	����
 �� ��	���	� ��	
����	�� ������������� P (Xq
t |Zt)% ��	�������	� ��� ����	
 ��� �


���������� �� �� ��������
� &�� �	���	��% �
 ��� ��

�	 ����� �� �����������	 !Zt = +1$% ���
����������� �
 �����	�	� �	 @����� ��� ���	
@ !Xq

t = +1$ �� ������ ���	 �
 ��� ��

�	 �����
�� 
����������	 !Zt = −1$�

��� ����������� ��
�� �� ��������
 �� �	 3�� ��������� !3���������	�������+����	$�
-� ��������� ���������
 ������+����	% �� �	����� �� �����	 ��� �������� �
 ��� ����� ��� �

���������� �� ���� �� ,�����
 �	
 �������
 ��

�	 ������ �������������� ��� �����
���
���� .��������8������	 ,������  �����% ��� ,�����
 ������������� �	
�� �� ��
�
 �� 
������0
Indext = P (Zt = +1|It) − P (Zt = −1|It)�

-�
��� 
������ 
���������	�% �	� ����� 	��� ���� ��� ,�����	� ���� �	�����
 ���� �� ������

������� �
����
 
��� ��� �����	�� 
�������� �
 ������� �	
  �	����� !2000$� =	 ��� ��	�
�����% ��� ��
�	� ���� �� ���� 
�7���	� 
��� ����� �������� !�	
��
% ���� ��� ��� �		������	
���	 �
 �	 �	�������� 9: ��������� �	 ���� �	��� ���	�������� ���� ������ Y q

t $� =�� ������

�� ��� ��
�	� ���� �� ������ �� -���	 �	
 -���	 !2002$ �	�A�� -��� ����� ��� 
�������
 ����
��������� �	 ��� 
������	� ���������	� 9���� ��� ��� ���	 �		������	 �
 ���� ���� ����� 
���
��� ������� �� ��� ��	����% ����	���� �	
 ��������� 
��� ������� ��� �������� �����
�
�	�� 
��� ���� ��	���� 
����

=���� �����,�����	� ���� ���	 ����
 
�� ��� �����
�����	�� ���	�	� ���	� �	
��� )������
������% �	 �����	����� ���	�������� ��
�� ����
 �	 8������	A� !1989$ �����
����� ��� ���	
���
� ���� �����
 ��	 �� �����
 ���	�������� ������� ����� �� 	� ��
�	� ���� �	
 ��� ���
��������	� Y q

t ���� ��	
����	�� 	����� 
�	���� 
�	����	�� �	����
 ��� ������ �� � �����������
�	
�� ������� ��� ����������	� ��� ��
�
 �	�� 
������� ������ 
�� ���� ������� ��� �������
����	 �� ��� ��� ���������� ��� ����� ����� ���� �������� ������ ������� 
�� ��� �����������
���	�	� ���	� �	
�� �����	�
 �����

"



��� ������ ����

�� ���	�
��� ���	�������� �	
�������	 (yq
t ) �	�� (xq

t ) �� ������ �� 
�7���	����� ��� ���	�
�������� ������ ���� � 4���	�� ��� �	
 ��� �������	� ��
�	� 
���	
� �	 ��� �������	 �
 ���
4���	�� ��������	 �����
� ��� ��
��	 �
 ��� �������
 4���	�� ��������	�0

xq
t =

{
+1 �


(
yq

t − yq
t−3

)
> mq = median{yq

r − yq
r−3, r = 4, . . . , T}

−1 ���������

�	 ��� ���� �
 ����	���� ������% ��� ��
�	� ���� �� ����� �������� ����	 ��� 
��� ���� ���
4���	�� ������� ����� �� �	�������
% ��� ����� �
 ��� ���	 ������	 "���	�� �	
 B���	��
������� ������ �� �	�����
 0

xq
t =

{
+1 �


(
yq

t − 1
2 (yq

t−2 + yq
t−4)

)
> mq = median{yq

r − 1
2 (yq

r−2 + yq
r−4), r = 5, . . . , T}

−1 ���������

���� ��
�	� �����
 �����	�� ��� �
��	���� �� ,� ���� ��� ������������	���� 
�����	��
���	��� 9�������% ��� ��
�
 �	
�������	 �� �����
�
 ����� ����� ��	��� ��
��� ��� 
�����	��
���	�� �� ��� ������ �� ������
 ��� �� ���� �������A� ,��� ��	��% ���	% �� ��� ������ �������
��	����% ��� ��
�
 �	
�������	 �������� �� � ��	���� ����� �������� ���� ��
�	� ���� ������
������ �� �	���
��� ����	���� �� ���������� �������

��� �����
��� ����

8���	� � ��� �
 ����������	� (xq
t )% �� �� 	�������� �� 
������	� 
�� ���� 
��� ��� �������������

�
 ���	� �	 ���� �������� ����� �
 ��� ���	���% ����	 ��� �	
�������	 ��������� �� �� ����

���0 ����� ��� ��� ,�����
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ξt/t−1 = ηξt−1/t−1 (1)
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t )
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���� �	� ��������
� ��
���������� �
� �	� 	����� ����� 
� �	� ��
�
�� ��� �	� ������ P (Wt | Wt−1)
�� �	� ��������
� ������ �
� �	� ��������� 1���
� �������������� ���
�� ��� �� ������	�����)

ηZ̃ = P (Z̃t | Z̃t−1) =

⎛
⎜⎝

0.93 0.05
(0.011) (0.006)
0.07 0.95

(0.011) (0.006)

⎞
⎟⎠

ηW = P (Wt | Wt−1) =

⎛
⎜⎝

0.84 0.25
(0.026) (0.036)
0.16 0.75

(0.026) (0.036)

⎞
⎟⎠

π = P (X = +1 | Z) = P

⎛
⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

⎛
⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

IP CP

IECP

IGBO

IT OB

IF OB

IINV

BIP CA

BIECA

BIT OB

BIP CW

BIUP C

RTT OB

RTGBO

RTP S

RTECW

WTP S

WTF PS

WTOI

WTGBO

WTDRA

SP CT

SECT

SGBO

SD

SPCP LA

SECPLA

⎞
⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

=

⎛
⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

+1
+1
+1
+1
+1
+1
+1
+1
+1
+1
+1
+1
+1
+1
+1
+1
+1
+1
+1
+1
+1
+1
+1
+1
+1
+1

⎞
⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

|Zt

⎞
⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

=

⎛
⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

0.79 0.5 0.33 0.5
(0.03) (0.03)
0.87 0.5 0.36 0.5

(0.02) (0.05)
1.00 0.5 0.00 0.5

(0.00) (0.00)
0.88 0.5 0.23 0.5

(0.03) (0.02)
0.79 0.5 0.37 0.5

(0.04) (0.05)
0.88 0.5 0.21 0.5

(0.04) (0.03)
1.00 0.5 0.11 0.5

(0.00) (0.01)
0.92 0.5 0.13 0.5

(0.03) (0.01)
0.84 0.5 0.19 0.5

(0.02) (0.03)
0.12 0.5 0.78 0.5

(0.03) (0.04)
0.89 0.5 0.15 0.5

(0.01) (0.03)
0.96 0.5 0.07 0.5

(0.03) (0.02)
0.91 0.5 0.16 0.5

(0.01) (0.03)
0.85 0.5 0.18 0.5

(0.01) (0.03)
0.85 0.5 0.25 0.5

(0.02) (0.03)
0.83 0.5 0.21 0.5

(0.02) (0.02)
0.74 0.5 0.27 0.5

(0.02) (0.03)
0.76 0.5 0.33 0.5

(0.01) (0.03)
0.95 0.5 0.13 0.5

(0.03) (0.02)
0.68 0.5 0.38 0.5

(0.02) (0.03)
0.61 0.5 0.34 0.5

(0.02) (0.04)
0.79 0.5 0.17 0.5

(0.04) (0.02)
0.75 0.5 0.32 0.5

(0.01) (0.04)
0.89 0.5 0.18 0.5

(0.03) (0.03)
0.96 0.5 0.07 0.5

(0.01) (0.01)
0.84 0.5 0.21 0.5

(0.01) (0.03)

⎞
⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

?B


